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Chain Matrix Mult Problem:
Given 2 se4, of matrices A, .., A,
presented \oua_ thew dimensions ]3=(p°,1>‘,-~- ,Pn>
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DP Solution o Chain Matrix Mylt:
- How to form su‘oprouems for
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Covrutness:
- Follows from correctness of DP formulation
p Runmnngmu
\ - O table entries
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Extrad:iga the Finel Sc%ucncc:

- So far e on% wmpute tt\c Or)t. Lojf
-To extyact final Jezvcnw—we hooks
- Recall - H[i ] stores best split for A, A
= A("'J_) = Ai. A‘;ﬂ A\)'
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where k= Hij]
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else
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Punmg time :
- Oln) to etk opt. ewsluation tree

- OCHU,V\D to 'Pcr{:orm Mu\tip\ica'tlom
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tﬂ‘tgm—u\o-mm () / boﬁam-up CMM
for el 1o n) MLivl=0 // basis- main diég.
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Smaller d-i, diferences
$O entfvg\ \$ defined

Ruvm'\g Time:
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Summary :
- Jn) DP egorit\wv\ for droin matvix multt

- Exp\afa of DPs t\«af( LuiH l\ic\raﬂl\ia
- Example: Optimum 'oiv\ena searda tree,



